Pulse Sequenée: s2pul

Solvent: CDC13
Ambient temperature
GEMINI-300 "m56965"

PULSE SEQUENCE .
Relax. delay 1.000 se

Pulse 33.3 degrees

Acg. time 1.998 sec

Width 4500.5 Hz

16 repetitions o,

OBSERVE H1, :3%40608948 MHz
DATA PROCESSING. .

FT size 32768 | N
Total time O minj 0 sec

(R)-5, CDCly

W = Water
S = Solvent
I = Impurity
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Solvent
I = Impurity
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Solvent

I = Impurity
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Water
Solvent
I = Impurity
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W = Water

S = Solvent
F I = Impurity
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Solvent

I = Impurity
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Solvent: COC13
Ambient temperature f
GEMINI~300 "m56965"

(R)-16, CDClg

PULSE SEQUENCE
Relax. delay 100 sec
Pulse 33.3 degrees
Acqg. time 1.838& sec
width 4500.5 Hz

16 repetitions

OBSERVE
DATA PROCESSING ‘
FT size 16384

Total time 0 min,lss sec
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W = Water
S = Solvent
I = Impurity
(R)17,CDCly
e ey
Solvent: CDC13 N -
Ambient tempergture RanhSebh ome S9RZ IS
GEMINI-300 "m56865" Sembed SRR 3SeR P =
PULSE SEQUENCE ™ SSeYSS Moo oono s
Relax. delay 1.D00 sec 1) J | ! J =
Pulse 33.3 degfees e e '
Acg. time 1.998 sec |
Vidth 4500.5 H
10 repetitions
OBSERVE ~ H1, 300.0608346 MHz
DATA PROCESSING |
FT size 16384 i
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Impurity.
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